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ARABIC

Paper : ARA-4056

(Functional Arabic-II)

Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Arabic

Answer all questions.

Candidates are required to give their answers
in their own words as far as practicable.

1. Answer the following questions (any five) :

,  2x5=10

? (jLajulJI "UlLsj jjl t _ I'VJ La

CjJULiaj Lol (b)

^LuU^U I— La (qJ

ojIjI (ja 'UuLa (j<a (d)

Contd.



?  La.ljc. .iJC. _y«C- ijls li La (b)

ijll (_^]l^ I j Lol (f)

_  jjJ _>aC. (jC. (jjlLo^ (9)

?Ia jllij 4 'ig aM CS^) '-r'Lijill 1 jLal (h)

?Cj1 jLuJi y-»j.ft. <-11 ,_gic. I'll-tji OLhtioJill t^La (i)

2. Translate the following extracts into English
(any two): 10^2=20

;  (_gJI AjllMl I' il III na all jj.a (j^j

(A)

L^jJal^)C.l nhc.^uj Cj^Lual_jAll (JjLuij Cj^_jlaJ

4ejjA*-aSl tU.ji ̂ Jiuue ^L^)j isjlJaaJl :i\Sla\

(  1 ̂ jj\ 1-A.i CLlaalijj Cj_pS dlllj ̂ Pj

^lajj ,^^1 'Cal^Vl i-llxjuiaj lj& (IHJ CAa^luil j

cllljljjuill (iljl_y^ (j-a ̂ UaJjuktill iJlsjj

(B)

(I.ll3_^l <n QM CJJ^'"J I li -N.. ̂ 1 A aja-». \l j

jLaci (JA "Vsk-jaj-a <Jlul£[ (jlj t(_gj)^inll e^Aj

(jl ;iil]j '^jj '" 1*'^ •> tj<a 4 %j-% > <~\ ^^'1>l^l Ijjl V) 4jj^l

^AJaji - ̂  ^ .^1 a\1 i—33^1 4j$ajLall
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^jJaiuU IaIj 'UlxL Clia_j]l Sjlj) ̂ _)Ja

LLaau [ji Aj3_jl Aj^^IaJ (j i h'^ I

(C)

jl oj^ sAjI^ jjl La A^ (jJjjAIS eLi^t (jLmj) JS

i(jjiLiJ V ■ till S I. (Jji ^juijlc. ji <Akj)lj ( Ajajjj jl ttAja HI

(j) Vj Aiulj tluul lilj] (Jau V .lilLiLoiA (_ya jjaJl Lj^j

(J^ ̂La-illj t^Aa.j ^^! ̂Lulj V nillLb L_ijjlill

(jjA (jjxjLill (_j^ l_j_^i.^iSua

3. Explain the following (any two) : 10^2=20

: (urJ^l L?') ^>il

_<ljai)j tJaOjll CAaj t(j:pll l^sil-a jj^stll (IW J-®®' (Cl)

t4_ijuiLjj 1^1 a53*j t^jA^I t^Luill

,Aj,iiil tuVl tilljl^^l (Ji«-»-^j 1 i1 ..."i^l

t0}a.ljVl j»Lij (JlilaVl (_>ajIa<0 (jjlASk (jlSji (j-a (jSJ
.Aajh'lll tJLa_^l o®-^J
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